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36.

37

38.

39.

40.

41.

42.

Identify the correct sentence.

e =T

(A) I am learning English, now, (B) I was learning English, now.

(C) 1had been learning English, now. (D) I have learning English, now.

Many people due to COVID-19 and the number of deaths is alarming.

Fill in the blank with right choice.

(A) passed-by (B) passed-away (C) passed-in

John booked one in the Tippu Express.
Fill in the blank with the correct option.
(A) broth (B) berths (C) berth

Getting the Doctorate Degree has added one more feather in his cap.

The underlined phrase suggests :
(A) additional success (B) additional courage (C) additional insult

One who does not know reading and writing is called as :

(A) literate (B) illiterate (C) uncivilized

Re-arrange the jumbled segments to form a meaningful sentence.

P / Q y R S
Playing ' The children’ Cricket " are

(A) SQRP (B) SPQR (C) RSPQ

Identify the odd one in the group.
(A) fidelity (B) faithfulness (C) betrayal

(D) passed-out

(D) birth

(D) additional failure

(D) educated

(D) QSPR

(D) loyalty

Space For Rough Work
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43.

44.

46.

47.

Identify the correct sentence.
(A) 1 was going to Bengaluru tomorrow. (B) I went to Bengaluru tomOorTow.

(C) T will go to Bengaluru tomorrow. (D) T had gone to Bengaluru tomoIrrow.

Opposite of the word ‘HEALTH” :
(A) un-health (B) dis-health (C) mis-health (D) ill-health

Identify the correct sentence.

(A) Ravi said “Do you like English Meena ?”
(B) Ravi said, “Do you like English, Meena” ?
(C) Ravi said, “Do you like English, Meena ?”
(D) Ravi said “Do you like English Meena” ?

One must bad habits to lead a healthy life.
Fill in the blank with correct choice.

(A) give-out (B) give-up (C) give-in (D) give-away

The word ‘strike’ means hit. The same word in this sentence, “The workers went on strike

to get their demands met” means :

(A) The workers refused to work.

(B) The workers worked enthusiastically.

(C) The workers were ill and so could not work.

(D) The workers were interested to work.

48. The plural of the word ‘phenomenon’ :
(A) phenomenons (B) phenomenas (C) phenomenes (D) phenomena
Space For Rough Work
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49. Choose the correct word to fill in the blank :

As you , SO you reap.

(A) sue (B) sow (C) sew (D) show
50. Mary always blows her own trumpet.

The underlined phrase suggests that :

(A) Mary condemns herself (B) Mary criticises herself

(C) Mary hates herself (D) Mary boasts herself
51. The word ACKNOWLEDGE means :

(A) accept (B) criticise (C) ban (D) reject
52. The opposite meaning of BARREN :

(A) cultured (B) productive (C) civilized (D) intelligent
53. . Ramu s honest man.

Fill in the blank with correct option.

(A) a (B) the (C) of (D) an
54. Iam angry you.

Fill in the blank with the correct option.

(A) upon (B) by (C) with (D) on
55. Among the students, the poor were given uniform and books free of cost.

(A) ones (B) once (C) one (D) one’s

Space For Rough Work
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56. AFFLUENT means :
(A) rich (B) clever (C) foolish (D) poor
57. Raju works in university.
Fill in the blank with the right word.
(A) the (B) to (C) a (D) an
58. Choose the opposite of the word FAR.
(A) Farther (B) Near (C) Away (D) Further
59, A person having more than one wife is called :
(A) Monogamist (B) Philanthropist ~ (C) Polygamist (D) Polyandrist
60. Identify the correctly spelt word.
(A) Satellite (B) Sattellite (C) Satelite (D) Sattelite
61. One of the students absent.
Fill in the blank with the correct option.
(A) am (B) is (C) were (D) are
62. “ I come in, Sir” ? asked the student.
(A) Will (B) Would (C) Dare (D) May
63. Identify the odd one in the group.
(A) Destructive (B) Poisonous (C) Constructive (D) Harmful
Space For Rough Work
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64.

65.

66.

67.

68.

69.

70.

Children ~ sweets.
Fill in the blank with right option.

(A) likes (B) is liking (C) has liked

W

you, please, lend me your bike ?”
Fill in the blank with the correct option.

(A) Should (B) Would (C) Dare

Meet me the entrance of the park.
Choose the right word to fill in the blank.
(A) on (B) above (C) to

Rahim sat his father.
Choose the right option to fill in the blank.

(A) beside (B) away (C) to

There is a cut-throat competition in the Job-market.
The underlined word can be replaced with

(A) negligible (B) smooth (C) tough

Fear of water is known as :

(A) logophobia (B) hydrophobia (C) toxicophobia

Identify the correctly spelt word.

(A) Maintenance (B) Maintainence (C) Maintenanse

(D) like

(D) Must

(D) at

(D) besides

(D) easy

(D) aerophobia

(D) Maintenence

Space For Rough Work
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71.

72.

3.

74.

5.

76.

Which of these is not an output device ?
(A) Printer (B) Speaker

(C) Monitor (D) Keyboard

What is the extension of Word files ?

(A) .dot (B) .doc (C) .txt (D) .ppt
What is the shortcut key to copy the selected information from the document ?
(A) ctrl +C (B) ctrl +P

(©) ctrl + X (D) ctrl +V

E-mail stands for

(A) Electronic Mail (B) Enhanced Mail

(C) Electric Mail (D) Electrical Mail
Expand Mbps.

(A) Mini bytes per second (B) Mega bits per second
(C) Mini bits per second (D) Mega bytes per second

Which of the following is a primary memory ?
(A) ROM (B) CDROM

(C) EPROM (D) RAM

A2
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71, 2RINTE, oxRynd B HIRQ,?
(A) &oeT* (B) ¢30*
(C) RoReo® (D) seednem’s
72, [ FON IFOB O ?
(A) .dot (B) .doc
(©) xt (D) -ppt
73. @8O0 Q0T O, 350830 IBOTD ToEIFF Fe3F e ORI ?
(A) ctrl+C (B) ctrl +P
(C) ctrl +X (D) ctrl +V
74. E-mail 2050
(A) QSTPE oee® (B) ot'@, I oe*
(C) 285 oee* (D) ogge” Soeer®
75. Mbps &3, OZOX.
(A) QR g To* Fdore’ (B) orw s Tk For
(C) R west =o' psi.{eled (D) ome s To* Fo®
76. FENIINCE, CINTITO FF0B Roes (Primary Memory) cSRAE ?
(A) ROM (B) CDROM
(C) EPROM (D) RAM
Space For Rough Work
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77. By default we find .. number of Excel sheets in a workbook.
(A) 2 (B) 3 () 4 (D) 1
78. DVD stands for
(A) Digital Versatile Disc (B) Digi Versatile Disc
(C) Digi Video Disc (D) Digital Video Disk
79. Which of the following is a web browser used for accessing internet ?
(A) Google Chrome (B) Mozilla Firefox
(C) All of these (D) Internet Explorer
80. LAN stands for
(A) Land Area Network (B) Location Area Network
(C) Localised Area Network (D) Local Area Network
81. Who is the father of computers ?
(A) Charles Babbage (B) Herman Hollerith
(C) Leibniz (D) Blaise Pascal
82.  Which of the following is not an input device ?
(A) Mouse (B) Joystick
(C) Monitor (D) Keyboard
Space For Rough Work "—‘
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77.  QFY,SN Y R085,0% S BeLz YR T[e' LTI, BReBUBT.

(A) 2 (B) 3 (©) 4 (D) 1
78. DVD 030

(A) Ber ES:GF'&%U‘ 53:3‘6 (B) &z Eﬂ?@'?%@‘ @h‘i

(C) @ derodne BXF (D) @xue’ He@oine 3%
79.  ESNSYrTD R L03er OTRY, TaFeded YR e PR’ B8NS ?

(A) Rener gpess (B) Bpenen FOTOT

(C) NP 2P (D) cacudres’ @E:ﬁ@,edc‘
80. LAN »0%0

(A) @R 0T HOIR SeFTTE (B) Snde3n* D0O0IR St'Sss

(C) Cresdxe Q00T ST (D) &neger DOOTR SeF'RTF
81. BoTP LTS LT o ?

(A) wOF EADRAN S (B) I0F ToJ0S*

(C) Suwaws (D) gigod sworef
82. FINIJINTE cInRIO AT YL IR, ?

(A) =P= (B) o035’

(C) =euo* (D) 3ewdner's
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83.

84.

8s.

86.

87.

88.

A2

Process of copying important data to another location to prevent their loss is called :
(A) Spam (B) Navigation

(C) Backup (D) Attachment

Which software is used for creating letters and documents ?
(A) MS-Excel (B) MS-PowerPoint
(C) MS-Access (D) MS-Word

Physical component of a computer system is called as
(A) Hardware (B) High level language

(C) Application software (D) Software

Which is the fastest computer ?

(A) Micro computer (B) Mini computer

(C) Super computer (D) Mainframe computer
ALU stands for

(A) Array Logic Unit (B) Application Logic Unit
(C) None of these (D) Arithmetic Logic Unit

The network of systems within an organisation is called as
(A) Extranet (B) Intranet

(C) Telnet (D) Internet

~ Space For Rough Work
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83.
Q0T BEODNOIT.
(A) = & (B) Seartesa*
((QIRAPRAS ) (D) es63,03%550085°

84,  TBrish SR TODSATRY, TrIRen oS FoF, eo” B LYRRNOZT ?
(A) MS-o8¢F (B) MS-T&0°To000083*
(C) MS-e8 (D) MS-8'F

85. rieagodo3m LPSE LRI 20T FEODSNIZTS.
(A) DB STt (B) &, IS5 ik
(C) wggexs* ma;ﬁec‘ (D) map;ﬁec‘

86. IR 38 FJenaon FOF TR NEFFOD0E ?
(A) K)BRe B0y, 8T (B) 0 gosge, LT
(C) Rpwo® 5070, 430° (D) S)'Fe oz, 30

87. ALU «0TT
(A) Array ©o23g* 0XeEs’ (B) ©8,Fe3a* wo22s* ORI
(C) =RIrvd, canayme 8, (D) ©03%0ese* ©ods* ORI

88. oz xo:g)mna a&aﬂ%ﬁeﬁ BWOOTIY, DFOTH FEODNIBLS ?
(A) oFeRSe* (B) ot
(C) Bordest (D) a0830°Ies*
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89.

90.

.

92.

93.

94.

A2

ISP stands for

(A) Internet Service Provider

(C) Internet Server Provider

Microsoft Windows is

(A) A word processor

(C) A programming language

Which software helps user to create slide based presentation ?

(A) MS-Outlook

(C) MS-PowerPoint

(B) Intranet Server Provider

(D) Intranet Service Provider

(B) A database program

(B) MS-Access

(D) MS-Word

Records stored one after the other in a particular order is called as

(A) Random File

(C) All of these

Uses of Internet are

(A) Feedback
(C) All of these

(B) Sequential File

(D) Direct File

(B) Software sharing

(D) Online communication

The first mechanical calculating device is

(A) Pascaline
(C) UNIVAC

(B) ENIAC
(D) Abacus

Space For Rough Work
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89.

90.

91.

92,

93,

94.

ISP 2053
(A) ROLTR I PpSFBEO* (B) 0ospas 337 dpsi@o’

(C) ROLTTE We3F O* T B0t (D) ra0eae3 Xr 5 ZpalBo°

RBRETOTE, Do et
(A) 2,000 T FPRXO® (B) 2,000 Betzodex® Fpemuss’
(C) .08 Fperpavon® evoriess* (D) 2.0 esEdesson’ A5

O TOFFFETT, § T 55003 FRIBODRY, Te3Ren WI¥EETton IHo0d BRI ?
(A) MS-Besfens® (B) MS-e58%°

(C) MS-TZo® Tood00e3* (D) MS-I@'s

2,083 a&:raq; BT, 2,000 0BT SBROTO TaSNEL Fop® (z’u% eo) esm@dssgt am*agd ?

(A) T3, 0m=F FHor (B) 2BQo0" Fo*

(C) aINTE QP (D) dge: g
BOLITRET LFBENTO

(A) @ea‘mgﬁ‘ (B) ma:s;aﬂeo' Jedory
(C) aIned aQep (D) 8" 30, DFeBT*

Fpow o170088 SEs0n TG (First mechanical calculating device)
(A) TR (B) ENIAC

(C) UNIVAC (D) wwosx
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0s.

96.

97,

98.

In MS-PowerPomt presentation

(A) Movie clips can be inserted.

(C) Both can be inserted.

(B) Both cannot be inserted.

(D) Sound clips can be inserted.

Which is the shortcut key to view a complete slideshow in MS-PowerPoint ?

(A) F5 (B) F2

The basic unit in spreadsheet is
(A) Workbook

(C) Cell

ATM stands for
(A) Automated Teller Machine

(C) Array Teller Machine

(C) F12 (D) F7

(B) Table

(D) Worksheet

(B) Arithmetic Teller Machine

(D) Automatic Teller Machine

99. WWW stands for
(A) Wide World Web (B) Web World Wide
(C) World Wide Web (D) World Whole Web
100. Brain of any computer system is
(A) CPU (B) Memory Unit (C) Control Unit (D) ALU
Space For Rough Work
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95.

MS-BI0* T000ES TRIODL,

(A) BORUZ Bor0BoneR), FeORLBOTD

(C) AUBRR, FeORBD

(B) 20BIR, BedBRMIROY,

(D) Bp BoeA0BONYR) BeORWBITI

96. MS-BTIO* TOOWOLIRE, FoTpedF F, B Hoe Fpedeo o3RO Zors'E Be* B ?
(A) F5 (B) F2 (C) F12 (D) F7
97. FEderF SYTOB Tew Pus
(A) =FFeos’ (B) de2e*
(C) R (D) WEFdess
98. ATM 0TT
(A) estdneddetdn BT’ oA (B) ©03%R,t58° QU SN’
(C) &8 80 e (D) wedpemn, s $Q0° DA
99. WWW 20038 =0 ?
(A) S ICF v (B) Suw' SF 3
©) Sorr @ (D) BF Breer Juf
100. ocaTe Bogge, L30° m;d:‘as 0% o3RI ?
(A) CPU (B) &0 opdes
(C) Botiges* oXuoRLs (D) ALU
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* Do not; look inside this question booklet or start answering on the OMR answer sheet.
IMPORTANT INSTRUCTIONSTO CANDIDATES:

1. Incase of usage of signs and symbols in the questions, the regular textbook connotation should be considered unless stated
otherwise,

2. This question booklet contains 100 questions and each question will have one statement and four different options/
responses & out of which you have to choose one correct answer.

3. After the 3 Bell rings, remove the paper seal of this question booklet and check that this booklet does not have any
unprinted or torn or missing pages or items etc., if so, get it replaced by a com plete test booklet. Read each item and start
answering on the OMR answer sheet,

4. Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number on
the OMR answer sheet.
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5. Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet. )

6. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same.

7. Once the last Bell rings, stop writing on the OMR answer sheet and hand over the OMR answer sheet to the room
invigilator as it is.

8. After separating the top sheet (Office copy), the invigilator will return the bottom sheet replica (Candidate’s copy) to you.

9. All questions carry equal marks. Every question for which wrong answer has been given by the candidate, 1/4% (0.25) of the
marks assigned for that question will be deducted. If a question is not answered by the candidate there will be no marks
deducted.

10. Use of Mobile Phones, Calculators and other Electronic/Communication gadgets of any kind is prohibited inside the

Examination venue.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final,
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